APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	LISA COLEMAN	Page 1 of 6			
Project: NORT	HANCOCK STREET RECONSTRUCTION A	ASSESSMENT DISTRICT - 2018			
Contract Number:	Payment Number: 7999 Payment Number: 7999 Payment Number: NOT WRITE IN THIS BOX - TO BE COMPLETED BY CITY ENGINEERING PERSONNEL ONLY AL FROM PAGE: 6 1002,082,35 PRETAINAGE: 35,647,78 PREVIOUS PAYMENTS: 718,424,67 PREVIOUS PAYMENT DUE: 718,424,67 PREVIOUS PAYMENT: The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract docume and that the current payment is now due. CONTRACTOR: CAPITOL UNDERGROUND, INC. DATE ECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract docume and that the contractor is entitled to payment for the amount certified. ECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract docume and that the contractor is entitled to payment for the amount certified. ECTOR'S CERTIFICATE FOR PAYMENT: FROM: CAST PATO: CAST PA				
DO NOT WRIT	FE IN THIS BOX - TO BE COMPLETE	D BY CITY ENGINEERING PERSONNEL ONLY			
TOTAL FROM PAG	E:6	1002082.35			
LESS RETAINAGE:					
SUBTOTAL:	,	966,434.57			
LESS PREVIOUS P	AYMENTS:				
CURRENT PAYME	NT DUE:	\$248,009.90			
and tha	at the current payment is now due.	6/6/18			
The unby this and the	application for payment has been comple at the contractor is entitled to payment for	eted in accordance with the contract documents, the amount certified.			
PLEASE PROVIDE TH	HE TIME PERIOD FOR THIS PAYMENT REC	QUEST: FROM: LAST Payment			
		AT WORKED ON PROJECT DURING THIS PERIOD:			
CATTELL					
NOTE: SIGNE	D PAVMENT RECUIEST SHALL RE SURMITT	TED TO THE ENGINEER/INSPECTOR			

PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

STREET ACCOUNT NO. 11469-402-170
STREET LIGHTING STREET ACCOUNT NO. 11469-402-177
TRAFFIC SIGNAL STREET ACCOUNT NO. 11469-402-176
STORM FROM STREET ACCOUNT NO. 11469-402-174
SANITARY ACCOUNT NO. 11469-83-173
WATER ACCOUNT NO. 11469-86-179

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

CAPITOL UNDERGROUND, INC.
NORTH HANCOCK STREET RECONSTRUCTION ASSESSMENT DISTRICT - 2018
CONTRACT NO. 7999
PAYMENT NO. 4

FAINE	NI NO. 4	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT NO. 11469-402-170												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$3,500.00	\$3,500.00		0.00	\$0.00	1.00	\$3,500.00	1.00	\$3,500.00	100.0%
10721	TRAFFIC CONTROL SIGN-PORTABLE CHANGEABLE MESSAGE	10.00	DAYS	\$125.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10801	ROOT CUTTING-CURB & GUTTER	180.00	L.F.	\$10.00	\$1,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911	MOBILIZATION	0.30	L.S.	\$146,000.00	\$43,800.00		0.00	\$0.00	0.30	\$43,800.00	0.30	\$43,800.00	100.0%
20101	EXCAVATION CUT	2,420.00	C.Y.	\$23.00	\$55,660.00		2,000.00	\$46,000.00	0.00	\$0.00	2,000.00	\$46,000.00	82.6%
20140	GEOTEXTILE FABRIC, TYPE SAS (NON-WOVEN)	2,160.00	S.Y.	\$2.35	\$5,076.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20219	BREAKER RUN	1,440.00	TON	\$9.85	\$14,184.00		400.00	\$3,940.00	0.00	\$0.00	400.00	\$3,940.00	27.8%
20221	TOPSOIL	752.00	S.Y.	\$7.00	\$5,264.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20303	SAWCUT BITUMINOUS PAVEMENT	140.00	L.F.	\$2.50	\$350.00		60.00	\$150.00	0.00	\$0.00	60.00	\$150.00	42.9%
20322	REMOVE CONCRETE CURB & GUTTER	1,614.00	L.F.	\$3.20	\$5,164.80		0.00	\$0.00	1,300.00	\$4,160.00	1,300.00	\$4,160.00	80.5%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	8,086.00	S.F.	\$2.60	\$21,023.60		1,000.00	\$2,600.00	10,000.00	\$26,000.00	11,000.00	\$28,600.00	136.0%
20401	CLEARING	125.00	I.D.	\$40.00	\$5,000.00		0.00	\$0.00	125.00	\$5,000.00	125.00	\$5,000.00	100.0%
20403	GRUBBING	125.00	I.D.	\$40.00	\$5,000.00		0.00	\$0.00	125.00	\$5,000.00	125.00	\$5,000.00	100.0%
20801	SODDING	752.00	S.Y.	\$8.00	\$6,016.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30201	TYPE "A" CONCRETE CURB & GUTTER	1,396.00	L.F.	\$19.10	\$26,663.60		1,000.00	\$19,100.00	0.00	\$0.00	1,000.00	\$19,100.00	71.6%
30203	TYPE "X" CONCRETE CURB & GUTTER	142.00	L.F.	\$30.50	\$4,331.00		100.00	\$3,050.00	0.00	\$0.00	100.00	\$3,050.00	70.4%
30208	HAND FORMED CONCRETE CURB & GUTTER (TREE LOCATIONS)	180.00	L.F.	\$35.60	\$6,408.00		50.00	\$1,780.00	0.00	\$0.00	50.00	\$1,780.00	27.8%
30301	5 INCH CONCRETE SIDEWALK	5,331.00	S.F.	\$5.80	\$30,919.80		2,000.00	\$11,600.00	2,000.00	\$11,600.00	4,000.00	\$23,200.00	75.0%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	3,281.00	S.F.	\$6.10	\$20,014.10		2,500.00	\$15,250.00	0.00	\$0.00	2,500.00	\$15,250.00	76.2%
30313	CONCRETE STEPS	95.00	S.F.	\$60.60	\$5,757.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	32.00	S.F.	\$28.40	\$908.80		24.00	\$681.60	0.00	\$0.00	24.00	\$681.60	75.0%
40101	CRUSHED AGGREGATE BASE COURSE,, GRADATION NO. 1	1,228.00	TON	\$20.80	\$25,542.40		800.00	\$16,640.00	0.00	\$0.00	800.00	\$16,640.00	65.1%

CAPITOL UNDERGROUND, INC. NORTH HANCOCK STREET RECONSTRUCTION ASSESSMENT DISTRICT - 2018 CONTRACT NO. 7999

001111170	•		•	•	٠.
PAYMENT	١	10.	4		

	ACT NO. 7999 NT NO. 4					1	1		1		******		I
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40102	CRUSHED AGGREGATE BASE COURSE,, GRADATION NO. 2	1,109.00	TON	\$20.80	\$23,067.20		500.00	\$10,400.00	0.00	\$0.00	500.00	\$10,400.00	45.1%
40202	HMA PAVEMENT, TYPE E-1	900.00	TON	\$63.49	\$57,141.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40211	TACK COAT	352.00	GAL.	\$2.00	\$704.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40231	ASPHALT DRIVE & TERRACE	10.00	S.Y.	\$64.00	\$640.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	TYPE "X" MODIFIED CONCRETE CURB & GUTTER	282.00	L.F.	\$70.50	\$19,881.00		200.00	\$14,100.00	0.00	\$0.00	200.00	\$14,100.00	70.9%
	SUBTOTALS				\$395,066.30	•		\$145,291.60		\$99,060.00		\$244,351.60	61.85%
STREET	LIGHTING STREET ACCOUNT NO. 11469-402-177												
60230	FURNISH & INSTALL 2 INCH PVC (SCHEDULE 80) CONDUIT	1,620.00	LF	\$6.50	\$10,530.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60232	FURNISH & INSTALL 2 INCH PVC (SCHEDULE 40) CONDUIT	400.00	LF	\$6.25	\$2,500.00		1,000.00	\$6,250.00	0.00	\$0.00	1,000.00	\$6,250.00	250.0%
60241	GOPHER RACEWAY FOR ELECTRICAL CONDUIT	50.00	LF	\$50.00	\$2,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60261	ELECTRICAL TRENCH	1,520.00	LF	\$5.50	\$8,360.00		1,000.00	\$5,500.00	0.00	\$0.00	1,000.00	\$5,500.00	65.8%
60401	CONSTRUCT LB-1 BASE	17.00	EACH	\$900.00	\$15,300.00		17.00	\$15,300.00	0.00	\$0.00	17.00	\$15,300.00	100.0%
60403	CONSTRUCT LB-3 BASE	2.00	EACH	\$950.00	\$1,900.00		2.00	\$1,900.00	0.00	\$0.00	2.00	\$1,900.00	100.0%
60409	CONSTRUCTION OFFSET BASE	1.00	EACH	\$1,350.00	\$1,350.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60421	REMOVE STREET LIGHT BASE	5.00	EACH	\$150.00	\$750.00		5.00	\$750.00	0.00	\$0.00	5.00	\$750.00	100.0%
60702	CONSTRUCT ELECTRICAL HANDHOLE TYPE 1	4.00	EACH	\$900.00	\$3,600.00		4.00	\$3,600.00	0.00	\$0.00	4.00	\$3,600.00	100.0%
60706	CONSTRUCT ELECTRICAL HANDHOLE TYPE 5	1.00	EACH	\$1,250.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90060	INSTALL AND MAINTAIN SUPPORT STRUCTURES	1.00	LS	\$21,500.00	\$21,500.00		0.00	\$0.00	0.50	\$10,750.00	0.50	\$10,750.00	50.0%
	SUBTOTALS				\$69,540.00	•		\$33,300.00		\$10,750.00	-	\$44,050.00	63.34%
TRAFFI	C SIGNAL STREET ACCOUNT NO. 11469-402-176												
60222	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 80) CONDUIT	890.00	LF	\$6.00	\$5,340.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60224	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40) CONDUIT	200.00	LF	\$6.75	\$1,350.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60241	GOPHER RACEWAY FOR ELECTRICAL CONDUIT	30.00	LF	\$50.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60261	ELECTRICAL TRENCH	590.00	LF	\$5.50	\$3,245.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60427	REMOVE ELECTRICAL HANDHOLE	1.00	EACH	\$250.00	\$250.00		1.00	\$250.00	0.00	\$0.00	1.00	\$250.00	100.0%

CAPITOL UNDERGROUND, INC. NORTH HANCOCK STREET RECONSTRUCTION ASSESSMENT DISTRICT - 2018 CONTRACT NO. 7999

$\neg \land \lor$	/MF	NIT I	 4

		1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETI
60702	CONSTRUCT ELECTRICAL HANDHOLE TYPE 1	4.00	EACH	\$900.00	\$3,600.00		4.00	\$3,600.00	0.00	\$0.00	4.00	\$3,600.00	100.0%
	SUBTOTALS				\$15,285.00		!	\$3,850.00	1	\$0.00	:	\$3,850.00	25.19%
STORM	FROM STREET ACCOUNT NO. 11469-402-174												
10702	TRAFFIC CONTROL FOR STORM SEWER INSTALLATION	1.00	LUMP SUM	\$1,000.00	\$1,000.00		0.00	\$0.00	1.00	\$1,000.00	1.00	\$1,000.00	100.0%
10912	MOBILIZATION FOR STORM SEWER INSTALLATION	0.13	LUMP SUM	\$146,000.00	\$18,980.00		0.00	\$0.00	0.13	\$18,980.00	0.13	\$18,980.00	100.0%
20217	CLEAR STONE	575.00	TON	\$6.50	\$3,737.50		0.00	\$0.00	140.00	\$910.00	140.00	\$910.00	24.3%
20313	REMOVE INLET	4.00	EACH	\$650.00	\$2,600.00		1.00	\$650.00	2.00	\$1,300.00	3.00	\$1,950.00	75.0%
20314	REMOVE PIPE	132.00	L.F.	\$32.30	\$4,263.60		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21002	EROSION CONTROL INSPECTION	3.00	EACH	\$300.00	\$900.00		1.00	\$300.00	1.00	\$300.00	2.00	\$600.00	66.7%
21011	CONSTRUCTION ENTRANCE	2.00	EACH	\$580.00	\$1,160.00		0.00	\$0.00	1.00	\$580.00	1.00	\$580.00	50.0%
21012	STREET CONSTRUCTION ENTRANCE BERM	2.00	EACH	\$580.00	\$1,160.00		0.00	\$0.00	1.00	\$580.00	1.00	\$580.00	50.0%
21013	STREET SWEEPING	1.00	LUMP SUM	\$13,000.00	\$13,000.00		0.25	\$3,250.00	0.75	\$9,750.00	1.00	\$13,000.00	100.0%
21015	STREET CONSTRUCTION STONE BERM	7.00	EACH	\$230.00	\$1,610.00		0.00	\$0.00	5.00	\$1,150.00	5.00	\$1,150.00	71.4%
21032	INLET PROTECTION, TYPE C - PROVIDE & INSTALL	8.00	EACH	\$67.50	\$540.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21033	INLET PROTECTION, TYPE C - MAINTAIN	16.00	EACH	\$12.80	\$204.80		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21034	INLET PROTECTION, TYPE C - REMOVE	8.00	EACH	\$32.00	\$256.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	12.00	EACH	\$150.00	\$1,800.00		0.00	\$0.00	9.00	\$1,350.00	9.00	\$1,350.00	75.0%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	24.00	EACH	\$12.80	\$307.20		0.00	\$0.00	15.00	\$192.00	15.00	\$192.00	62.5%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	12.00	EACH	\$32.00	\$384.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50211	SELECT FILL FOR STORM SEWER MAIN	928.00	L.F.	\$0.01	\$9.28		250.00	\$2.50	250.00	\$2.50	500.00	\$5.00	53.9%
50401	12 INCH TYPE I RCP STORM SEWER PIPE	765.50	L.F.	\$76.69	\$58,706.20		350.00	\$26,841.50	250.00	\$19,172.50	600.00	\$46,014.00	78.4%
0402	15 INCH TYPE I RCP STORM SEWER PIPE	162.50	L.F.	\$87.15	\$14,161.88		140.00	\$12,201.00	0.00	\$0.00	140.00	\$12,201.00	86.2%
50723	3'X3' STORM SAS	1.00	EACH	\$5,400.00	\$5,400.00		1.00	\$5,400.00	0.00	\$0.00	1.00	\$5,400.00	100.0%
50741	TYPE H INLET	9.00	EACH	\$2,400.00	\$21,600.00		3.00	\$7,200.00	5.00	\$12,000.00	8.00	\$19,200.00	88.9%
50792	STORM SEWER TAP	2.00	EACH	\$1,850.00	\$3,700.00		0.00	\$0.00	1.00	\$1,850.00	1.00	\$1,850.00	50.0%
50793	PRIVATE STORM SEWER RECONNECT, TYPE 1	2.00	EACH	\$2,300.00	\$4,600.00		0.00	\$0.00	1.00	\$2,300.00	1.00	\$2,300.00	50.0%

CAPITOL UNDERGROUND, INC. NORTH HANCOCK STREET RECONSTRUCTION ASSESSMENT DISTRICT - 2018 CONTRACT NO. 7999

		ACT NO. 7999 IT NO. 4						1		l		******		
Type Type Type Control Type Control Type T			1 	2 	3	4	5	6	7	8	9	#10	11 	12
SAMPLAN SAMP	ITEM	TYPE OF WORK		UNITS					EXTENSION		EXTENSION		EXTENSION	PERCENT COMPLETE
SUBTOTALS SANTARY ACCOUNT NO. 11469-83-173 10704 CONSTRUCTION 1.00 LUMP SUM \$1,500.00 \$1,500.00 \$0.00 \$0.00 \$0.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00	50801	ULO	10.00	EACH	\$660.00	\$6,600.00		0.00	\$0.00	5.00	\$3,300.00	5.00	\$3,300.00	50.0%
SANTARY ACCOUNT NO. 11469-83-173 10704 TRAFFIG CONTROL FOR SANTARY SEWER 1.00 LUMP SUM \$1,500.00 \$1,500.00 0.00 \$0.00 \$1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.	90030	3'X6' STORM SAS	2.00	EACH	\$5,400.00	\$10,800.00		1.00	\$5,400.00	1.00	\$5,400.00	2.00	\$10,800.00	100.0%
10704 TRAFFIC CONTROL FOR SANITARY SEWER 1.00 LUMP SUM \$1,500.00 \$1,500.00 0.00 \$0.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 \$1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1.00 1,500.00 1,500.00 1,500.00 1.00 1,500.00 1,500.00 1,500.00		SUBTOTALS				\$177,480.46	•		\$61,245.00	-	\$80,117.00	_	\$141,362.00	79.65%
10704 CONSTRUCTION 1.00 LUMP SUM \$1,200.00 \$1,200.00 \$0.00 \$0.00 \$0.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,20	SANITAF	RY ACCOUNT NO. 11469-83-173												
20311 REMOVE SEWER ACCESS STRUCTURE 7.00 EACH \$865.00 \$6,055.00 0.00 \$0.00 \$0.00 \$0.00 \$5,190.00 \$0.00 \$5,190.00 \$0.00 \$5,190.00 \$5,190.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.00 \$1,615.	10704		1.00	LUMP SUM	\$1,500.00	\$1,500.00		0.00	\$0.00	1.00	\$1,500.00	1.00	\$1,500.00	100.0%
2014 REMOVE PIPE 52.00 L.F. \$32.30 \$1,679.60 0.00 \$0.00 \$0.00 \$1,615.00 \$0.00 \$1,615.00 \$0.00 \$1,615.00 \$0.00 \$1,615.00 \$0.00 \$1,615.00 \$0.00 \$1,615.00 \$0.00 \$1,615.00 \$0.00 \$1,615.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0	10914	MOBILIZATION FOR SANITARY SEWER CONSTRUCTION	0.27	LUMP SUM	\$146,000.00	\$39,420.00		0.00	\$0.00	0.27	\$39,420.00	0.27	\$39,420.00	100.0%
50202 TYPE II DETWATERING 1.00 L.S. \$1.00 \$1.00 0.00 \$0.00 0.00 \$0.00 0.00	20311	REMOVE SEWER ACCESS STRUCTURE	7.00	EACH	\$865.00	\$6,055.00		0.00	\$0.00	6.00	\$5,190.00	6.00	\$5,190.00	85.7%
50212 SELECT FILL FOR SANITARY SEWER MAIN 2,014.00 T.F. \$0.01 \$20.14 0.00 \$0.00 \$1,400.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14.00 \$14	20314	REMOVE PIPE	52.00	L.F.	\$32.30	\$1,679.60		0.00	\$0.00	50.00	\$1,615.00	50.00	\$1,615.00	96.2%
50301 8° PVC SANITARY SEWER PIPE SDR-35 849.00 LF. \$119.25 \$101,243.25 0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0	50202	TYPE II DETWATERING	1.00	L.S.	\$1.00	\$1.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50353 SANITARY SEWER LATERAL SDR-35 1,165.00 L.F. \$40.65 \$47,357.25 0.00 \$0.00 \$0.00 \$75.00 \$27,438.75 675.00 \$27,438. 50354 RECONNECT 39.00 EACH \$3,500.00 \$136,500.00 0.00 \$0.00 \$0.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000. 50361 WASTEWATER CONTROL 1.00 LUMP SUM \$4,400.00 \$4,400.00 0.00 \$0.00 \$0.00 \$1.00 \$4,400.00 1.00 \$4,400.00 \$4,400.00 \$1.125.00 \$1,125.00 0.00 \$0.00 \$1.00 \$1,125.00 30.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,	50212	SELECT FILL FOR SANITARY SEWER MAIN	2,014.00	T.F.	\$0.01	\$20.14		0.00	\$0.00	1,400.00	\$14.00	1,400.00	\$14.00	69.5%
50354 RECONNECT 39.00 EACH \$3,500.00 \$136,500.00 0.00 \$0.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 30.00 \$105,000.00 \$105,000.00 \$105,000.00 \$105,000 \$105,000.00 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$105,000 \$10	50301	8" PVC SANITARY SEWER PIPE SDR-35	849.00	L.F.	\$119.25	\$101,243.25		0.00	\$0.00	800.00	\$95,400.00	800.00	\$95,400.00	94.2%
50361 WASTEWATER CONTROL 1.00 LUMP SUM \$4,400.00 \$4,400.00 0.00 \$0.00 1.00 \$4,400.00 1.00 \$4,400.00 50390 SEWER ELECTRONIC MARKERS 100.00 EACH \$37.50 \$3,750.00 0.00 \$0.00 \$0.00 \$1,125.00 30.00 \$1,125.00 30.00 \$1,125.50 50701 4' DIA. SANITARY SAS 5.00 EACH \$2,855.00 \$14,275.00 0.00 \$0.00 \$0.00 50.00 \$14,275.00 50791 SANITARY SEWER TAP 1.00 EACH \$1,675.00 \$1,675.00 SUBTOTALS WATER ACCOUNT NO. 11469-86-179 10703 TRAFFIC CONTROL FOR WATER MAIN INSTALLATION 1.00 LUMP SUM \$1,125.00 \$1,125.00 10913 MOBILIZATION FOR WATER MAIN INSTALLATION 0.30 LUMP SUM \$146,000.00 \$43,800.00 0.00 \$0.00 \$0.00 \$1.00 \$1,125.00 1.00 \$1,125.00 \$13,250. 10913 MOBILIZATION FOR WATER MAIN INSTALLATION 0.30 LUMP SUM \$146,000.00 \$43,800.00 0.00 \$0.00 \$0.00 \$1.00 \$1,125.00 \$1,893.45 1.00 \$1,893.70002 FURNISH AND INSTALL 4 INCH PIPE & FITTINGS 45.00 L.F. \$145.65 \$7,282.50 0.00 \$0.00 \$0.00 \$1.00 \$1,893.45 1.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 35.00 \$4,187.75 3	50353	SANITARY SEWER LATERAL SDR-35	1,165.00	L.F.	\$40.65	\$47,357.25		0.00	\$0.00	675.00	\$27,438.75	675.00	\$27,438.75	57.9%
50330 SEWER ELECTRONIC MARKERS 100.00 EACH \$37.50 \$3,750.00 0.00 \$0.00 \$0.00 \$1,125.00 30.00 \$1,125.00 30.00 \$1,125.00 30.00 \$1,125.00 30.00 \$1,125.00 50.00 \$1,275.00 50.00 \$14,275.00 50.00 \$14,275.00 50.00 \$14,275.00 50.00 \$1,275.00 50.00 \$1,275.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <t< td=""><td>50354</td><td>RECONNECT</td><td>39.00</td><td>EACH</td><td>\$3,500.00</td><td>\$136,500.00</td><td></td><td>0.00</td><td>\$0.00</td><td>30.00</td><td>\$105,000.00</td><td>30.00</td><td>\$105,000.00</td><td>76.9%</td></t<>	50354	RECONNECT	39.00	EACH	\$3,500.00	\$136,500.00		0.00	\$0.00	30.00	\$105,000.00	30.00	\$105,000.00	76.9%
50701 4' DIA. SANITARY SAS 5.00 EACH \$2,855.00 \$14,275.00 50791 SANITARY SEWER TAP 1.00 EACH \$1,675.00 \$1,675.00 SUBTOTALS WATER ACCOUNT NO. 11469-86-179 10703 TRAFFIC CONTROL FOR WATER MAIN INSTALLATION 1.00 LUMP SUM \$1,125.00 \$1,125.00 10913 MOBILIZATION FOR WATER MAIN INSTALLATION 0.30 LUMP SUM \$146,000.00 \$43,800.00 0.00 \$0.00 1.00 \$1,125.00 10913 MOBILIZATION FOR WATER MAIN INSTALLATION 0.30 LUMP SUM \$146,000.00 \$43,800.00 0.00 \$0.00 0.30 \$43,800.00 0.00 \$0.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$	50361	WASTEWATER CONTROL	1.00	LUMP SUM	\$4,400.00	\$4,400.00		0.00	\$0.00	1.00	\$4,400.00	1.00	\$4,400.00	100.0%
50791 SANITARY SEWER TAP 1.00 EACH \$1,675.00 \$1,675.00 SUBTOTALS WATER ACCOUNT NO. 11469-86-179 10703 TRAFFIC CONTROL FOR WATER MAIN INSTALLATION 1.00 LUMP SUM \$1,125.00 \$1,125.00 1.0913 MOBILIZATION FOR WATER MAIN INSTALLATION 1.00 LUMP SUM \$146,000.00 \$43,800.00 70001 FURNISH AND INSTALL 4 INCH PIPE & FITTINGS 50.00 L.F. \$145.65 \$7,282.50 70002 FURNISH AND INSTALL 6 INCH PIPE & FITTINGS 45.00 L.F. \$119.65 \$5,384.25 70004 FURNISH AND INSTALL 10 INCH PIPE & FITTINGS 10.00 L.F. \$203.15 \$2,031.50 10.00 \$0.00 \$0.00 \$0.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$1,002.00 \$	50390	SEWER ELECTRONIC MARKERS	100.00	EACH	\$37.50	\$3,750.00		0.00	\$0.00	30.00	\$1,125.00	30.00	\$1,125.00	30.0%
SUBTOTALS \$357,876.24 \$0.00 \$295,377.75 \$295,377. WATER ACCOUNT NO. 11469-86-179 10703 TRAFFIC CONTROL FOR WATER MAIN INSTALLATION 1.00 LUMP SUM \$1,125.00 \$1,125.00 \$0.00 \$0.00 \$0.00 \$1.00 \$1,125.00 \$1.00 \$1,125.00 \$1.00 \$1,125.00 \$1.00 \$1,125.00 \$1.00 \$1,125.00 \$1.00 \$1,125.00 \$1.00 \$1.00 \$1,125.00 \$1.00 \$1.00 \$1,125.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00	50701	4' DIA. SANITARY SAS	5.00	EACH	\$2,855.00	\$14,275.00		0.00	\$0.00	5.00	\$14,275.00	5.00	\$14,275.00	100.0%
WATER ACCOUNT NO. 11469-86-179 10703 TRAFFIC CONTROL FOR WATER MAIN INSTALLATION 1.00 LUMP SUM \$1,125.00 \$1,125.00 \$0.00 \$0.00 \$0.00 \$1.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000 \$1,000	50791	SANITARY SEWER TAP	1.00	EACH	\$1,675.00	\$1,675.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10703 TRAFFIC CONTROL FOR WATER MAIN INSTALLATION 1.00 LUMP SUM \$1,125.00 \$1,125.00 0.00 \$0.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 1.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125.00 \$1,125		SUBTOTALS				\$357,876.24			\$0.00		\$295,377.75		\$295,377.75	82.54%
10913 MOBILIZATION FOR WATER MAIN INSTALLATION 0.30 LUMP SUM \$146,000.00 \$43,800.00 0.00 \$0.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 0.30 \$43,800.00 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30 \$1,803.45 0.30	WATER	ACCOUNT NO. 11469-86-179												
70001 FURNISH AND INSTALL 4 INCH PIPE & FITTINGS 50.00 L.F. \$145.65 \$7,282.50 0.00 \$0.00 \$13.00 \$1,893.45 13.00 \$1,893. 70002 FURNISH AND INSTALL 6 INCH PIPE & FITTINGS 45.00 L.F. \$119.65 \$5,384.25 0.00 \$0.00 \$0.00 \$35.00 \$4,187.75 35.00 \$4,187. 70004 FURNISH AND INSTALL 10 INCH PIPE & FITTINGS 10.00 L.F. \$203.15 \$2,031.50 0.00 \$0.00 \$0.00 \$1,002.00 \$157,815.00 \$1,002.00 \$157,815.	10703	TRAFFIC CONTROL FOR WATER MAIN INSTALLATION	1.00	LUMP SUM	\$1,125.00	\$1,125.00		0.00	\$0.00	1.00	\$1,125.00	1.00	\$1,125.00	100.0%
70002 FURNISH AND INSTALL 6 INCH PIPE & FITTINGS 45.00 L.F. \$119.65 \$5,384.25 0.00 \$0.00 \$35.00 \$4,187.75 35.00 \$4,187.75 70004 FURNISH AND INSTALL 10 INCH PIPE & FITTINGS 10.00 L.F. \$203.15 \$2,031.50 0.00 \$0.00 \$0.00 \$10.00 \$2,031.50 10.00 \$2,031.50 70006 FURNISH AND INSTALL 16 INCH PIPE & FITTINGS 1,010.00 L.F. \$157.50 \$159,075.00 0.00 \$0.00 \$0.00 \$1,002.00 \$157,815.00 1,002.00 \$157,815.00	10913	MOBILIZATION FOR WATER MAIN INSTALLATION	0.30	LUMP SUM	\$146,000.00	\$43,800.00		0.00	\$0.00	0.30	\$43,800.00	0.30	\$43,800.00	100.0%
70004 FURNISH AND INSTALL 10 INCH PIPE & FITTINGS 10.00 L.F. \$203.15 \$2,031.50 0.00 \$0.00 10.00 \$2,031.50 10.00 \$2,031.50 70006 FURNISH AND INSTALL 16 INCH PIPE & FITTINGS 1,010.00 L.F. \$157.50 \$159,075.00 0.00 \$0.00 1,002.00 \$157,815.00 1,002.00 \$157,815.00	70001	FURNISH AND INSTALL 4 INCH PIPE & FITTINGS	50.00	L.F.	\$145.65	\$7,282.50		0.00	\$0.00	13.00	\$1,893.45	13.00	\$1,893.45	26.0%
70006 FURNISH AND INSTALL 16 INCH PIPE & FITTINGS 1,010.00 L.F. \$157.50 \$159,075.00 0.00 \$0.00 \$157,815.00 1,002.00 \$157,815.00	70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	45.00	L.F.	\$119.65	\$5,384.25		0.00	\$0.00	35.00	\$4,187.75	35.00	\$4,187.75	77.8%
	70004	FURNISH AND INSTALL 10 INCH PIPE & FITTINGS	10.00	L.F.	\$203.15	\$2,031.50		0.00	\$0.00	10.00	\$2,031.50	10.00	\$2,031.50	100.0%
	70006	FURNISH AND INSTALL 16 INCH PIPE & FITTINGS	1,010.00	L.F.	\$157.50	\$159,075.00		0.00	\$0.00	1,002.00	\$157,815.00	1,002.00	\$157,815.00	99.2%
70007 FURNISH AND INSTALL 20 INCH PIPE & FITTINGS 75.00 L.F. \$303.15 \$22,736.25 0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	70007	FURNISH AND INSTALL 20 INCH PIPE & FITTINGS	75.00	L.F.	\$303.15	\$22,736.25		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

CAPITOL UNDERGROUND, INC.
NORTH HANCOCK STREET RECONSTRUCTION ASSESSMENT DISTRICT - 2018
CONTRACT NO. 7999
PAYMENT NO. 4

	ACT NO. 7999 NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
70030	FURNISH AND INSTALL 4-INCH WATER VALVE	3.00	EACH	\$1,600.00	\$4,800.00		0.00	\$0.00	2.00	\$3,200.00	2.00	\$3,200.00	66.7%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	4.00	EACH	\$1,700.00	\$6,800.00		0.00	\$0.00	4.00	\$6,800.00	4.00	\$6,800.00	100.0%
70033	FURNISH AND INSTALL 10-INCH WATER VALVE	1.00	EACH	\$2,520.00	\$2,520.00		0.00	\$0.00	1.00	\$2,520.00	1.00	\$2,520.00	100.0%
70035	FURNISH AND INSTALL 16-INCH WATER VALVE	5.00	EACH	\$3,585.00	\$17,925.00		0.00	\$0.00	5.00	\$17,925.00	5.00	\$17,925.00	100.0%
70036	FURNISH AND INSTALL 20-INCH WATER VALVE	1.00	EACH	\$5,660.00	\$5,660.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	3.00	EACH	\$4,580.00	\$13,740.00		0.00	\$0.00	3.00	\$13,740.00	3.00	\$13,740.00	100.0%
70056	RECONNECT 1-INCH SERVICE LATERAL	32.00	EACH	\$1,645.00	\$52,640.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70058	RECONNECT 2-INCH SERVICE LATERAL	2.00	EACH	\$3,230.00	\$6,460.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	8.00	EACH	\$4,100.00	\$32,800.00		0.00	\$0.00	3.00	\$12,300.00	3.00	\$12,300.00	37.5%
70082	CUT OFF EXISTING WATER MAIN	1.00	EACH	\$2,045.00	\$2,045.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70090	ABANDON WATER VALVE BOX	8.00	EACH	\$170.00	\$1,360.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70091	ABANDON WATER VALVE ACCESS STRUCTURE	5.00	EACH	\$585.00	\$2,925.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70101	FURNISH AND INSTALL INSULATION	40.00	L.F.	\$25.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70105	PIPE PLUG FOR WATER MAIN INSTALLATION	4.00	EACH	\$1,050.00	\$4,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$396,309.50		•	\$0.00		\$267,337.70	-	\$267,337.70	67.46%
CONTRA	ACT TOTALS				\$1,411,557.50	•	•	\$243,686.60		\$752,642.45	=	\$996,329.05	70.6%
CHANG	E ORDER #1, ACC'T NO. 11469-402-170												
	- REMOBILIZATION TO REMOVE TREE AT 118 N HANCOCK	1.00	LUMP SUM	\$1,430.00		\$1,430.00	0.00	\$0.00	1.00	\$1,430.00	1.00	\$1,430.00	100.0%
CHANG	E ORDER #2, ACC'T NO. 11469-86-179										1		1
	- 138 HANCOCK LEAK - CREW TIME TO TUNNEL UNDER EXISTING FACILITIES	1.00 1.00	LUMP SUM LUMP SUM	\$1,149.80 \$3,173.50		\$1,149.80 \$3,173.50	1.00 1.00	\$1,149.80 \$3,173.50	0.00 0.00	\$0.00 \$0.00	1.00 1.00	\$1,149.80 \$3,173.50	100.0% 100.0%
	- ADDITIONAL 16 INCH FITTINGS CHANGE ORDER #2 TOTAL	4.00	EACH	\$2,150.00		\$8,600.00 \$12,923.30	0.00	\$0.00 \$4,323.30	0.00	\$0.00 \$0.00	0.00	\$0.00 \$4,323.30	0.0%
CHANG	E ORDER #3, ACC'T NO. 11469-86-179				i		1				1 -		1 -
	- TIME & MATERIALS TO FIX LEAK AT 130 N HANCOCK	1.00	LUMP SUM	\$1,905.45		\$1,905.45	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0% =
GRAND	TOTALS (CONTRACT TOTALS PLUS CHANGE ORDERS)				\$1,427,816.25		•	\$248,009.90	•	\$754,072.45		\$1,002,082.35	70.18%